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1. (5%)

#include <iostream>

using namespace std;

int main()
{
int i=0, sum=0;
while (i<10) {
I++;
if (1%3 !=0) continue;
sum +=i;
}
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printf("SUM=%d", sum);
return O;

}

2. (5%)

#include <iostream>
using namespace std;
int func(int x, int y)

{
if (y==2)
return x;
else
return x*func(x, y-1);
}
int main()
{
int x=3, y=4;
printf("ANS=%d", func(3,4));
return O;

}

3. (10%)

#include <iostream>
using namespace std;

int func(int x, int& y, int* z)

{
X=x+1;
y=y+2;
Z2=&X;
return x+y++*z,

Y

int main()

{
int a=2, b=4, c=6;
printf("ANS1=%d", func(a, b, &c));
printf("\nANS2=%d", a+b+c);
return O;

}
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4. (5%)
#include <iostream>
using namespace std;

int a=2;

int main()

{
int a=4;
if (2<5) {

int a=6;

}
printf("ANS=%d", a);
return O;

}

5. (5%)

#include <iostream>
using namespace std;

int main()
{
int a=1, b=2, c;
try {
c=a/b;
throw 1.0;

if (b==0) throw "ERROR";
if (b>a) throw 10;
} catch (int error_no){
cout << "ERR=" << error_no << endl;
} catch (char* ERRMSG) {
cout << ERRMSG << end|;
} catch(...) {
cout << "EXCEPTION";
}

return O;
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